Вариант № 10
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	Задача №1

Дано: E1 = 220 В

           R1 = 15 Ом

           R2 = 15 Ом

           R3 = 5 Ом

Вычислить: 

1. Токи всех ветвей и потенциалы узлов, используя з-н Ома и 1-й з-н Кирхгофа. 

2. Баланс мощности.
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	Задача №2

Дано: E1 = 120 В

R1 = 60 Ом

R2 = 90 Ом

R3 = 75 Ом

R4 = 120 Ом

R5 = 110 Ом

Вычислить:
1. Токи всех ветвей и потенциалы узлов, используя з-н Ома и 1-й з-н Кирхгофа.

       2. Баланс мощности.
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	Задача №3

Дано: E1 = 40 В

 R1 = 2 Ом

 R2 = 3 Ом

 R3 = 3 Ом

 R4 = 3 Ом

 R5 = 3 Ом

Вычислить: 
1. Токи всех ветвей и потенциалы узлов, используя з-н Ома и 1-й з-н Кирхгофа. 

       2. Баланс мощности.

	
[image: image4.wmf]I1

R1

R2

V2

I2

E2

V3

R3

V0

E1

V1

I3



	Задача №4

Дано: E1 = 10 В

 E2 = 24 В

 R1 = 3,5 кОм

 R2 = 2 кОм

 R3 = 3 кОм

 Вычислить: 
1. Токи всех ветвей и потенциалы узлов, используя з-н Ома и 1-й з-н Кирхгофа. 

       2. Баланс мощности.

	
[image: image5.wmf]I1

R1

R2

V2

I2

R6

I6

R3

V0

E1

V1

I3

R5

R4

I5

V4

V3


	Задача №5

Дано: E1 = 12 В

 R1 = 7 Ом

 R2 = 2 Ом

 R3 = 2 Ом

 R4 = 2 Ом

 R5 = 2 Ом

 R6 = 2 Ом

 Вычислить: 

1. Токи всех ветвей и потенциалы узлов, используя з-н Ома и 1-й з-н Кирхгофа. 

       2. Баланс мощности.
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